Task 1: addition
1) 38,629 + 528 =

2) 5,838 + 868,324 =
3) 497,928 + 48,624 =

4) 9,904,857 + 836,308 =

Now find the missing digits. The carrying has not been shown so be careful!

3. 6.
5 8 3 3 7 6 4 0 2
+ 3 5 4 + 9 3 5
6 2 6 9 1 7 3 3 5 8

Task 2: addition with decimals

1) 43.8+5.3=
2) 7.902 +4.45 =
3) 892.58 +42.483 =

4) 74.5 + 381.85 =

Now find the missing digits. The carrying has not been shown so be careful!

e) £5.0 f) £6) P
+f |42 + £2.98
£12.43 £9.40




Task 3: subtraction

1) 47,384 -3,872 =

2) 843,201 -82,633 =
3) 1,032,013 -563,901 =

4) 600,000 — 39,217 =

Now find the missing digits. The regrouping has not been shown so be careful!

5. 6.
2 9 4 1 1 8 8 3 7
- 7 4 7 - 7 7 0
2 6 6 6 4 8 0 5 9 9
Task 4: subtraction with decimals
1) 5.3-3.24=
2) 10-6.4=
3) 45.2-7.89 =

4) 402.38 —17.382 =

Now find the missing digits. The carrying has not been shown so be careful!

e) £2 17/ f)£82/3
-£14.85  -£ 4.79
£11.91 £28.04




ANSWERS

Task 1: addition

1) 39,157

2) 874,163

3) 546,552

4) 10,741,165

5) Missing digit = 4

6) Missing digit top row =3 missing digit bottom row = 3

Task 2: addition with decimals
1) 49.1

2) 12.352
3) 935.063

4) 456.35

e) Missing digit top row =1 missing digit bottom row =7

f) Missing digit = 4



Task 3: subtraction

1) 43,512

2) 760,568
3) 468,112
4) 560,783
5) Missing digit = 2

6) Missing digit top row =9 missing digit bottom row = 8

Task 4: subtraction with decimals

1) 2.06

2) 3.6
3) 37.31

4) 384.998

e) Missing digit top row =6 missing digit bottom row = 6

f) Missing digit top row =8 missing digit bottom row =5



